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QUESTION 1

This is the amount the facility actually bills for the services it provides. 

A. costs 

B. charge accounting 

C. reimbursement 

D. contractual allowance 

Correct Answer: B 

 

QUESTION 2

Patient with Parkinson\\'s disease is admitted for insertion of a brain neurostimulator pulse generator with one electrode
array. 

A. 61885 

B. 61850; 61863 

C. 61888 

D. 61867; 61870 

Correct Answer: A 

 

QUESTION 3

Patient with a diagnosis of aortic valve stenosis and mitral valve regurgitation is admitted for aortic valve replacement.
Patient is also under treatment for congestive heart failure. Patient undergoes placement of aortic valve prosthesis with
cardiopulmonary bypass. 

A. 396.2, 398.91, 35.22, 39.61 

B. 424.1, 424.0, 428.0, 35.22 

C. 396.2, 428.0, 35.22, 39.61 

D. 424.1, 424.0, 428.0, 35.21, 39.61 

Correct Answer: A 

 

QUESTION 4

Acute and chronic cholecystitis with cholelithia\\'sis. Laparoscopic cholecystectomy attempted and converted to open. 



A. 574.00, 574.10, V64.41, 51.22 

B. 574.00, 574.10, 51.22, 51.23 

C. 574.00, 51.22, 51.23 

D. 574.00, V64.41, 51.22 

Correct Answer: A 

 

QUESTION 5

In ICD-9-CM, when an exploratory laparotomy is performed followed by a therapeutic procedure, the coder reports 

A. therapeutic procedure first, exploratory laparotomy second. 

B. exploratory laparotomy, therapeutic procedure, closure of wound. 

C. exploratory laparotomy first, therapeutic procedure second. 

D. therapeutic procedure only. 

Correct Answer: D 

 

QUESTION 6

The centers for Medicare and Medicaid Services (CMS) will make an adjustment to the MSDRG payment the hospital
stay. Therefore hospitals are required to report an ____________ indicator for each diagnosis. 

A. sentinel event 

B. payment status 

C. hospital acquired 

D. present on admission 

Correct Answer: D 

 

QUESTION 7

Patient was admitted with third-degree burn of upper back which involved 20% of his body surface. There was an
explosion and fire at his home. 

A. 942.25, 948.02, E890.2 

B. 942.44, 948.21, E895 

C. 942.34, 948.22, E890.3 

D. 942.24, 949.3, E897 



Correct Answer: C 

 

QUESTION 8

If there are 150,000 records and the HIM Department receives 3,545 requests of records within a given period of time,
what is the request rate? 

A. 2.4%. 

B. 3.5%. 

C. 4.6%. 

D. 5.1%. 

Correct Answer: A 

 

QUESTION 9

The "cooperating party" responsible for maintaining the ICD-9-CM disease classification is the 

A. Centers for Medicare and Medicaid Services (CMS). 

B. National Center for Health Statistics (NCHS). 

C. American Hospital Association (AHA). 

D. American Health Information Management Association (AHIMA). 

Correct Answer: B 

 

QUESTION 10

Hypertrophic tonsillitis; bilateral tonsillectomy and adenoidectomy 

A. 463, 28.3, 28.3 

B. 474.00, 28.3 

C. 474.02, 28.3, 28.3 

D. 463, 28.3 

Correct Answer: B 

 

QUESTION 11

A HIM Department, currently using, 2,540 linear filing inches to store records, plans to purchase new open-shelf filing
units. Each of the shelves in a new 6-shelf unit measures 36 linear filing inches. It is estimated that an additional 400



filing inches should be planned for to allow for 5-year expansion needs. How many new file shelving units should be
purchased? 

A. 11 

B. 12 

C. 13 

D. 14 

Correct Answer: D 

 

QUESTION 12

You are the HIM Director at the hospital in Columbus, Georgia. Your administrator wan partner with a hospital across
the river in Phoenix City, Alabama. This partnership would inv the use of telemedicine. What issue should you vocalize? 

A. the needed technology is not available 

B. telemedicine is only useful for rural facilities 

C. physicians are licensed by the state 

D. Joint Commission does not approve of telemedicine 

Correct Answer: C 
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